=anF At

Provia






H®
ProVie | |

X FERIE
B T AT ....ceeceeeeeeeeeee ettt e a e b e e e b e s e e s AR AR RS A A e AR e AR e AR R A AR AR A A s AR ee AR ee A e At A s s st s aen 4
= |1 1 PO 5
L= = ST 6
L!La o
SREBRS
TP 8
B .ottt ettt s et et e A e AR e e AR AR e e At AR e A eE AR b bR AR e e AR A eE et At A bt eb s e Rt et ee s AR aneeas 9
e 015 2= TP 10
BB FRIZEiEH
g LT 1

TS HI5h
By = K 15
B B B oo eeeeee e e et e eateeeeteateeeateeeateatateaeateaseseaseseaseseateseaseseaseeeseaseseaseseateseasessasessaseaseseaseseanessanessateneateasaneanenen 19
1= TR 21
TREE
=t et =1 =1 T 22
XY
LA k=L A=k =X (=)A= N 24
1= 26
BAasiTHl
BB BB T oottt oo e et et eeeeee et eeeeeeeenenaeeeeeeeenenenenenenenanananenanananananasenenesanasarananesananasesanasenaranasesennansnannn 27
v 29



“ProVia B K REE”

WABCO WABCO prgvVia wWABCO

ENER BHERY EETHHER A ERTER

mLOGICAL
NOMICAL

RERETIHMH BHIEZ M4 SFEETHH HEHFAS
RISENAE B R EhEEHmLT [RECaBEE

ProVia



a

Bk
BNRILETRREEN E ST SR

s
BRI E B BRI

&
(REI LSS S T 4T

==
BRE

EENRHE P IEMEEE

=1
S RERET R IHTEIL S

BRI T EAESEEREE M, N RE FEMEERME MR
8, 2R EE, ANRENR M RN~

EREXEAETUNEFZHES. EBRSEMNENESER,.

WE T fREZE R, 15118 www.provia-auto.com




ERITPAE B 2%

FanEHA

N1

INIE

&S

Yimiss

1T8HE

FiRRIR

BRARZHF

RIEHR

HEMAS

BASIHMEMAHEARNEER
Sl RFIF &, RIS EN NI
R =8

WABCO BB miT 5 R SRE

BEEHE R

BESTE AR RE IR/ BLERIARSS
R

PRIR (B IR 15

(k3

FrE %5

ZIFEEREHRTY, RERFHNR
SMMANEERMNRE, FEPR
FEFEEGHE, LEAED TN

PRIER B TIT AN & B2

BRaE

BEBTELARREIR

BRI IF

14

EERY

A EHZE

ro ,
W\Z mlt‘nhl’/‘ml




=R~ o

AirDryer Cartridge

Working pressure: max. 10 b2"

PRO 124 0022
M39x 1.5




FiEig
Provia FIRERA T StnETIRENIRT, BEFNRSERRETS

MM LR~ MR, TSR TERNEAS BRSNS M39 x 1.5RH B9
PAEHRE,

FEHHE

= BRRIKIE: RENEETIRERN 2 FTENIMENESHIRENT
AR Fi5, YR/ WFIEREIFREIRTE,

- SHIENE RIPBEFDRS. TRAEESRESESMEEH,
BEHEER, B2 FRHRASEAMRMSBEIEHRARY.

* RIFBEN: TERSFnEERESETIREN 2F TBNBES
RN TER S EmE, NMEKTIREERSES,

ProVia FIREBEITEMNESTRRE, MASHEEH. Provia TIREE

BESSEMRE. BH. RBEMNITWMEE,

Ee ey Be %~

_

Air Dryer Cartridge

Working pressure: max. 10 bar
PRO 124 002 2
M39x1.5

Engineered by Aftermarket specialists Pr

A

v DARZRZZZZZZ, CPRRRPR07 | P2 ]
- PPZZZZZZZZZ ORI ) P2 |

5

5w PRZZIZZZZZIT O | P ]

ProVia B2 5

TEES
Z0

PRO 124 002 2

<10 bar

M39x1.5 right-hand thread

Provia

* Average low specification
alternative product

™



Fige:

FETRBEREEHAFTERNMNESEZE, WREZENN
E4E=SHITRMITFIE, PHIEEREMN, BME=zhRSKH AT EE.

= yyer Cartridge

= REIGIHITE, ERTEAIBSELR e, 10bar

= $BFE Provia SinETIREE, IREEFEHENTIRIELE ;3192‘; (1’_052 2

« HEQC/TERINE, RIRAESD

s HENRELETY, BIFNHREMmYE ProVia

= tRECHNARES, HARSERALEIK

FmiEl
I{EED I{ERE YIRES
<10 bar | -20°C to +65°C | 8.5+0.2 bar
POl VAGE=S
ProVia S4S WABCO E42 OE (2
PRO 1220210 4324101470 CNHTC  WG9000360521/1
4324102470 WG9000360521/2
AZ87355500100
PRO 122 020 0 4324101520 Foton 1120835680050
Yutong 352900019

Provia



ERLIBHT

ProVia BSEHIT (APU) BREEHAETSESLNMGE
SiEziE, EHESFIEBNSORRFRIFELAR. EXWREE
ENHNEES SHTRMTE, HERS T AHEERNEN,
Hieftd HERP,

FTERHE

= 2IRGIHLE, BRTREABIER

= f&ED ProVia minET IR, IREEEHENTIRERE

» HE QC/T ERINE, RIERSGE

» BRS N ARERELZENEDEERN TIEEE

» HHP-XERANGE, MERIIEEREIE—ENLS
HIzh S E

FmiEi
I{EED I{ERE YIkES
<13 bar -20°C to +65°C | 9.3+0.2bar

POIVAGE=S
ProVia E4S WABCO E§5 OE 45
PRO 1220170 9325001120 DFLQ 9325001120
PRO 122018 0 9325001130 FAW 3515020-73A

3515020-73B

FESREERMHS FIRRHS ZEIERIPEAGS
PRO 1220170 PRO 122014 0 PRO 122016 0
PRO 12207180 PRO 1220150 PRO 122016 0

Provia

10



IE L RELR

RECRBATNEFWERTE, NEWFZ. HESEHEFRMRE
BER, HREFRRS, RECDERMAIFHEMN, BITHHE
EfES REEREEH T RAFRBFIENRR,

i

= TAERHHARMNA

= NAITZ, BERBARONEN NMA

= BERRENEMDEEE

= BE20MES, BESI0MEN BHS

FTERFY
= RAELE A MRS ECU MRS, BMESTH
= RRSLHLBRAEDISIT, BT, HFAME
= AJLITE 150 °C R T IIE
-3
- BRI RERS
- RE: hEERERR
= SBESEE: & B -40°CE+200°C
fERESk: -40°CE +150°C
fERREL: -40°CE +180°C
ERESR: -40°CE+80°C

Exdiey Bt %-

L2 E %

3 o ZZZZZZZZIZ e,

l ]

ORI 77 i Al T 2
PRI /2 A R

b DLZZZZZI Ol
ARG 7 2 Al 77

77
Qzzzzi )

. . IR O, ]

BEERE

Provia

1

* Average low specification alfernafive product

™



ProVia iR {E %23

it

400 mm PR 0320000
1000 mm PRO 0320010
1500 mm PR0 0320020
2050 mm PRO 0320030
2050 mm PRO 032004 0
© 1650 mm PRO 0320050
© 2675mm PRO 032006 0
A 1940 mm PRO 032007 0
B 1400 mm PRO 032008 0
350 mm PR0 032009 0
1700 mm PRO 0320100
3000 mm PRO 0320110

T = =
8 A 1650 mm PR 0320120

[ — =
& C 2675mm PRO 0320130

[ — e W
8 A 4100 mm PRO 0320140

[ — S -
| 8 B 2650 mm PRO 0320150

]

A 1500 mm PRO 0320160

™

Provia

12



W GESES

PRO 032000 0
BPW 0233170500
0233170100
DAF 1315698
1361393
1504951
1518724
1778552
1778554
Daimler A0025423118
EvoBus A0025423118
lveco 500070461
5801115879
9441032808
MAN ZG005610007
Mercedes-Benz  A0025423118
A15-0101
Otokar 16N00-05728-BA
Paccar 1361393
1504951
1778554
Renault 5010604322
5021170121
5021170122
Scania 1934568
1934570
2090021
2149659
Solaris Bus 1102905340
Yutong 355000242
PRO 0320010
CNHTC WG91607105221
DAF 1504929
1506003
FAW 35503606S
Ford 98CT2B372AA
Hyundai 946007A150
lveco 4460000009
Kinglong 35A1350502
Paccar 1504929
1506003

OE fmh% OE 5

Renault 5010422332
5021170123
Scania 1934569
2090023
Shangqi DZ9100580214
DZ9100581214
Yutong 35000028
PRO 0320020
Daimler A0015426818
A0015427818
A0025422518
EvoBus A0015426818
A0015427818
A0025422518
Mercedes-Benz  A0015426818
A0015427819
A0025422518
Paccar 1529040
PRO 0320030
DAF 1505215
1518008
Daimler A0015423118
A0015428718
EvoBus A0015423118
A0015428718
A68054200418
Hyundai 946007A050
lveco 5006010272
MAN 8127120617
Mercedes-Benz A0015423118
A0015428718
Neoplan 8127120617
Paccar 1505215
1518008
Renault 5010422334
Scania 2090022
Shangi DZ9511984030
DZ9100580250
Solaris Bus 720387939
Tata Daewoo 3879500610

OE fuh% OE 45

Yutong 355000182

PRO 032004 0

DAF 1524828

lveco 41200560
41200561

Paccar 1524828

PRO 032005 0

Scania 1892051

PRO 0320060

Scania 1892053

PRO 0320070

DAF 1850203
1862600
1870628

Daimler A0075427218

PRO 0320080

DAF 1862602
1869290

PRO 0320090

Faun 99707007090

Krone 505820819

MAN N2255200060

Renault 502170124

Volvo WA4410329050

PRO 0320100

CNHTC AZ91187104011
AZ91187104010

DAF 1400071
1506149

Daimler A0019050400
A0065427618

EvoBus A0019050400
A0065427618

FAW 3605360820

Ford 7C462B372AA

Hyundai 946007A500
946007A550

ProVia

13



W GESET

Iveco 42554824
504013848
Kinglong 230000269
Mercedes-Benz A0019050400
A0065427618
Nissan 479009X600
Paccar 1400071
1505052
Scania 2090024
Solaris Bus 1021400501
Volvo 21760204
Yutong 355000236
PRO 0320110
DAF 1518009
1531495

14

OE fmh% OE 45

A0015423318
A0015428818
A0015428918
A0025422618
A0025423818

Daimler

A0015423318
A0015428818
A0015428918
A0025422618
A0025423818

EvoBus

A0015423318
A0015428818
A0015428918
A0025422618
A0025423818

Mercedes-Benz

Paccar 1518009

Solaris Bus 920100080

PRO 0320120

Scania 1892057

OE fah% OE 45

PRO 0320130

Scania 1892058

PRO 0320140

Renault 21361881

Volvo 20509869
21361881

PRO 0320150

Renault 21361893

Volvo 20509865
21361884
21361893

PRO 0320160

Renault 21296829
7421296829

Volvo 21296829

Provia

™



MIRREEFSE (FREhR)

WA HEFN SERITERMBERAMN, B3RS, MSPERR

#“Ez=H. 17

FRESRESLIMTEHD, HFEREEHMHEEHES, BT

FEFMMEIFIE. LHINGEEIRRIRE, TRTFHRIRFIR.
ProVia IR #EFIMIEREASE, HEEHR,

i

= MR, NBMEESR, MEIRE

FEHHE

Provia IR/ @ ESEEAMR, AIUBSRSHREN NA

MRS, FREGK, BOHEPMEIRE L
FEpERBENIGT, BEKX

KRR, SEEET R
o

SRRV NIR ERIEH fk

Lo

& QCT ik

f7%12: 25"/635mm

ERE: TERK75 AR, BEREA15 AR
TIERE: -40°C E+80°C

BATLIEES: 10bar

¥ Be %-

=3

%53

v+ QI ) Ml

b
17
R R B
U % ¥ (1R 1) '

A T VI P ]
- A

Gz, |

N SN 72277700 A v o 7 J
8 oo i) (VITLEITIIY O . O]

SRRl 77777 A

7

zzzzi )

Provia

15

* Average low specification alfernafive product

™



ProViaWRF HESE (BIHIE)

PRO 000006 0
PRO 0000070
PRO 0000080
PRO 0000090
PRO 0000100
PRO 0000110
PRO 0000120
PRO 0000130
PRO 0000170
PRO 0000180
PR0 3922000
PRO 3922010
PRO 3922020
PR0O 3922030
PRO 3922040
PRO 3931000
PRO 3931010
PRO 3931020
PR0O 3931030
PRO 3932000
PRO 3932010
PR0O 3932020
PRO 3932030
PRO 3932040
PRO7120190*
PRO 7127140

30/30
30/30
20/30
24/30
30/30
24/30
30/30
30/30
30/30
24/30
30/30
30/30
24/30
30/30
30/30
30/30
30/30
30/30
30/30
30/30
30/30
30/30
30/30
30/30
24/30
30/30

63.5mm
76.2mm
76.2mm
76.2mm
76.2mm
76.2mm
76.2mm
76.2mm
63.5mm
63.5mm
63.5mm
63.5mm
63.5mm
63.5mm
63.5mm
3.00"
3.00"
3.00"
3.00"
250"
250"
250"
250"
250"
63.5mm
63.5mm

-BARSH

S N X X N

SN TN NSNS SNSKSSS XS SSSSSSKS\K~-Xx~

QcT

SAE & TUV
SAE & TUV
SAE & TUV
SAE & TUV
SAE & TUV
SAE & TUV

QCT
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
SAE
Qct

8.0 bar
8.0 bar
8.5 bar
8.5 bar
8.5 bar
8.5 bar
8.5 bar
8.5 bar
8.0 bar
8.0 bar
8.0 bar
8.0 bar
8.0 bar
8.0 bar
8.0 bar
116 psi
116 psi
116 psi
116 psi
116 psi
116 psi
116 psi
116 psi
116 psi
8.0 bar
8.0 bar

10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
10.0 bar
145 psi
145 psi
145 psi
145 psi
145 psi
145 psi
145 psi
145 psi
145 psi
10.0 bar
10.0 bar

262 mm
262 mm
224 mm
234mm
262 mm
234mm
262 mm
262 mm
262 mm
230mm
249 mm
249 mm
232mm
249 mm
249 mm
9.8"
9.8"
9.8"
9.8"
9.8"
9.8"
9.8"
9.8"
9.8"
230mm
235mm

90°
45°
45°
45°
45°
45°
45°
45°
45°
90°
45°
45°
40°
40°
45°
45°
45°
45°
45°
45°
45°
45°
45°
45°
90°

16

BEAE (B)

Air port position: 90°
*PRO 712019 0:0°




ProViaEERHESE (BX#Hlzh) -

T&ERRY H+#&2 Q”z%ﬂ?ﬁk o

PRO 0000060 227 mm 208.5mm 230mm 260 mm 38mm M16x1.5 M16x1.5 3/8-18 NPTF
PRO 0000070 256 mm 208.5mm 187 mm 227 mm 38mm M16x1.5 M16x1.5 M16x1.5
PRO 0000080 261Tmm 208.5mm 198 mm 25Tmm 43 mm M16x1.5 M16x1.5 M16x1.5
PRO 000009 0 261Tmm 208.5mm 226 mm 279 mm 38mm M16x1.5 M16x1.5 M16x1.5
PRO 0000100 268 mm 208.5mm 235mm 288 mm 38mm M16x1.5 M16x1.5 M16x1.5
PRO 000010 261Tmm 208.5mm 226 mm = 38mm M16x1.5 M16x1.5 M16x1.5
PRO0000120 268 mm 208.5mm 235mm - 38mm M16x1.5 M16x1.5 M16x1.5
PRO0000130* 268 mm 208.5mm 235mm = 38mm M16x1.5 M16x1.5 M16x1.5
RRO 0000170 227 mm 208.5mm 200 mm 230 mm 38mm 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 0000180 234 mm 208.5mm 169 mm 222 mm 38 mm M16x15 M16x1.5 M16x1.5
PRO 3922000 23Tmm 206.0 mm 248 mm 279mm 37mm 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PR0 3922010 23Tmm 206.0 mm 200 mm 230mm 37mm 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PR0 3922020 228 mm 206.0 mm 248 mm 279 mm 37mm 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3922030 23Tmm 206.0mm 179 mm 21Tmm 37mm M16x1.5 M16x1.5 3/8-18 NPTF
PRO 3922040 231Tmm 206.0mm 179 mm 21Tmm 37mm M16x1.5 M16x1.5 M16x1.5
PR0O 3931000 10.5" 8.21" 1.00" 2.25" 150" 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3931010 10.5" 8.21" 555" 6.80" 150" 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3931020 10.5" 821" 162" 2.88" 150" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3931030 10.5" 8.21" n3" 12.60" 150" 5/8-TMUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3932000 9.1" 811" 1.00" 2.25" 146" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3932010 9.1 811" n3" 12.50" 146" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3932020 9.1" 811" 9.75" 11.00" 146" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3932030 9.1" 811" 5.50" 6.80" 146" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 3932040 9.1 811" 162" 287" 146" 5/8-1MUNC2A | 5/8-18 UNF2A | 3/8-18 NPTF
PRO 7120190 234 mm 208.5mm 169 mm 222 mm 38mm M16x1.5 M16x1.5 M16x1.5
PRO 712714 0 227 mm 2085 mm 180 mm 230mm 38 mm M16x15 M16x15 3/8-18 NPTF
KE (D) MK (F)
SALL) ZEBIKEE (H)

LEEE ())

*Rubber boot: PRO 000 013 0

TEERY (E)

5 Stud spacing: 120.7 mm (4.75")

\;7 HEFTEL(K)

HET+HEXKE (G)

SPRING 12

°
BRAKE

Provia

17

™



ProVia SR ESE (RUFIzh) - BASH

INETE KE(B)
PRO 7127120 16/24" 57.0 mm - SAE & TUV 10.5 bar 8.5bar 19Tmm 2355 +5mm
PRO7127130 20/24" 63.5mm - SAE & TUV 10.5 bar 8.5 bar 197 mm 243.0 t5mm
PRO7127150 16/24" 57.0mm PRO 7120022 SAE & TUV 10.5 bar 8.5bar 19Tmm 2355+5mm
PRO 712716 0 20/24" 63.5mm PRO 7120022 SAE & TUV 10.5 bar 8.5 bar 197 mm 243.0 t5mm
PRO 7120030 20/24" 63.5mm PRO 7120022 SAE & TUV 10.5 bar 8.5 bar 197 mm 245.0£5mm
Bikigie
AR
89 mm FEEE (B) RISl
KE:42mm
by
I REERIE
— Rt:M16x1.5
] i
£ _
° ]
X ]
t - SREiEEE:
é 120.7 mm
it
la
M WITRE:
15.5 mm
IR OR:
M16x1.5 PRO 7120022

LHBProVialk K EMRE:

- BReM: BYREE,

AEBMNRBITEME RO, MMBREEFER,

* BFTY: REEEL, FIEPRESEER, AMPHEI.
* REBE: mENRINITE, RS TERE.

WM 4SEIS

PRO7127120
BPW 05.444.40.01.0
05.444.40.02.0
Gigant 719001007
Haldex 1363430001
Knorr-Bremse K037970N0O0O
Kogel 6609441
6609442
Krone 550017680
SAF 4454107230
44541076 30

Schmitz Cargobull 122760

18

OE fah% OE 45

PRO7127130
BPW 05.444.44.01.0
05.444.44.02.0
Haldex 346187001
1352024004
Knorr-Bremse BS7400
BS7401
BS7402
BS7403
SAF 44541078 30
44541079 30
PRO7127150
BPW 05.444.40.01.3
05.444.40.02.3

EKE
PRO 7120022

OE fah% OE 5

PRO712716 0
BPW 05.444.44,013
05.444.44.023
PRO 7120030
FUWA

Provia

™



ProVia 88 S=E

ProVia BYRIZNSE, ESENREFRMIHRAVNES i SR EIZZE o
ProVia A& PR ES —MiR AW S| HHIMAH TUV IGERHIZSE,
AfHentEEm EFEmMN AR,

'IEAB

= 1,000,000;R e SetEdp
= 96hiIfE e,

= T{ERE: -40°C - 80°C
= ;X ATERES: 10.2Bar

= TUVIAIE
= 4772: 57.0/63.5/76.2 mm

i dRCY

PInIE.

ke %-

L2 E 2

€ 53D

mz

i W 7 s R W |

w45 0 v) PHTRIZZ N CRdeZ ) P2 ]

v & (e /min) ARG G0 VP irr 7 Vs
ProVia 2EKE (2UFIzh) - RS
zps e ) etk fas o
KEEA) | KE(B) 0(0) TR (n) AE) | FEWSOE | 8BS0 (6
PRO714 0190 635mm | 15:05mm 108 mm @179 mm M16x1.5 / M16x15 / ’
PRO 7140200 20 57.0mm | 15:0.5mm 102 mm @179 mm M16x1.5 / = = 90’
M12x15 / M22x15 / . .
PRO 7140300 20 635mm | 15:05mm | 108 mm @179 mm % N T 125 50
PRO 714 2410 24 635mm | 15:05mm | 108 mm ©189 mm M16x1.5 / M16x1.5/ 0 20°
M12x1.5 / M22x15 / . .
PRO 7142420 24 635mm | 15:05mm | 108 mm 0189 mm x NegLa 4 30 90
PRO714 2440 24 762mm | 20:0.5mm 118 mm @189 mm - M22<15/ 180° 90’
PRO 714 2450 24 762mm | 26:05mm | 107mm 2189 mm - M22x1.5/ 90° 167°
PRO714 3300 16 57.0mm | 15:0.5mm 102 mm @172mm - M16x15/ 90° 45°
PRO 7147100 16 57.0mm | 15:0.5mm 102 mm 2172 mm M16x1.5/ M16x1.5 / 0 20°
PRO 714 029 0 20 63.5mm | 15£0.5mm 108mm ® 179 mm M16x1.5 / M16x1.5 / 0 35°
RIS KT,
S (6) BAKE () 425s2mm
WEEOE E)
. =
i o -
Y
e ERTEREL:
i TREREEO(D) o1
He
M H
RS
Ke o
TR (A)
©
M ./ eﬂim$$iﬂjfﬁz
\L/ M16x1.5
1035 0/(C)

* Average low specification

ProVia

alternative product



WHASEIS

OE fmh% OE 5

PRO 7140190

Knorr-Bremse

PRO 7140200

Knorr-Bremse

PRO 7140300

Knorr-Bremse

PRO 7142410

Knorr-Bremse

20

14315
337900
1020756
1456901
1517954
1932639
7054446
0203277400
0203277500
0544434010
0544434020
3454106760
3454108260
4454106760
4454108260
21151205030
A0074201224
BS3404
1131098
N2504016063
WA4235050000

1524853
81511016384
81511019384
BS3417

120920326
5021204036
A0054206824
A0084201524
BS3401
BS3435
1138414FNOO
K004171INOO
K004486N00

17157

118867

337902
1517956
1542896
1664253
1932640
3177339
7054433
70330019
0203277800
0203277900
500590336
0544436010
0544436020
3454106960
3519015DA1S
A0074201424
AB4235061430
WA4235060010

OE fuh% OE 45

PRO 7142420

Knorr-Bremse

PRO714 2440

Knorr-Bremse

PRO 7142450

Knorr-Bremse

MAN

PRO 7143300

Knorr-Bremse

PRO7147100

ASHOK LEYLAND

BPW

DAF

Evobus
FRUEHAUF
GOLDHOFER
HALDEX
HENDRICKSON

KEMPF

0054207724
0054208324
0084200624
120924321
BS3514
K002624
K002624N00
K003996N00

81511016434
315110%6498

S353
1137133
KO015589N00

BS3526
1132723
K015591N00

81511016425
81511016491

54203924
74207424
BS3300
114535

445332068

0203277000
0203277100

0544432010
0544432020

1505241
A0064205224
AJV4526
169345
125160001
4231047100

2001001
2001036

OE fah% OE 5

Knorr-Bremse

KOGEL

KRONE

Mercedes-Benz

Nooteboom
SAF

SCANIA

Volvo

PRO 714 029

FUWA

3454106560
3454108160
1114535
1137140

334652
5812866
58128660
505812866
5058128660
A0064205224
14338
1815504
4454106560
4454108160
1932621

WA4231047100

0

Provia

™



NZER

MZER AR ERIBE R AR IR MR A9REE, Provia FIZE
REVEARMNTE LRERNSESXFEE. Bit 2HFEESH
NER, BoISEMEE, ALMBRERREERRMHERBNTER,

R

- MBEHEEREENES NN ERUES, Provia FIZEH IR
HTE “REE NS— Nk

- Provia FIZEH RFIFTSEMER, AIMILE R EASKSER RIS
- RSBFIERDSEANES, RERLBR

- EFEENEE

FEHE

= SYE—HIEhes KB K E— R XA, FHHETED

» REBNERREMRGE, BRT2EBIR

= 22 MARREESHRAER ST ULE TS EAZEHITI2S, 0KNORR. WABCO. Meritor. Bendix. BPW # TEVES &, B=ET
0MRTEHS

Loy

= TREREHHFERKIT. WML,

= fJ5 ECE-ROFMEER, FRECE-ROOIMEERSL, ProViaF|EREEI T ZHEMNIA, SFEESMHFHT (WNSE) H&
MERERVIRIE, BRRMERTFEE (NBRMMENIE) UREIEHEMRZER R EENSER,

Ecdie Bt %- kN % Z %0

I 7 R, T —
TRE e B iz | gz )
RN L A

vy VDI ZZ 707 PP ) Yz ]
Przzz7z7z7z777 CrZprari; 7277

* Average low specification alternative product

4B Fe A

ProVia®S WVA &S FZER
PRO 721000 2 29087 Knorr SN7/SB7 ZAREE
PRO 7210012 29228 BPW T8200 BHe
PRO 721003 2 29267 BPW T8301 =10
PRO 721004 2 29361 Knorr SC7 B4R EE
PRO 721002 2 29267 WABCO MAXX 22 B6REE

™

Provia

21



BERESER

ProVia EREZZSERATFEERETSRERY, BERNERER
ENSEEHRNTRSEH#STHS, MTATESHE (S8) 0
=E, REBRFEML,

Provia ERESERENEREHHAR, REAHE,

#Ed

s TRMNATER, hENRERE

= RUMIRITHIRR, $HNEETT

= EftEE, Rer5E, BREIERMYERE

TR

= NAITZ, REEE

= XEBMEEME, BEMRaESIR- BT 06/ \HEERHE, EAGHK
= BEN, BIREE; HEMAR, BEMLT

IEMBRE
= T{EEA: Mbar

« RRITEES: 14bar
= TEEE: -40°CE +80°C

L ey Bt %

A

L

sy ony QPRZZZZZZZZ R ) VO]

w g DZZZZZZZZ CPlRrh ) P ]
e 1 B a0 °C (et i) | LLLULI PP, O] O ]
D1k 16 B 80 oC (et s i) LLLLLLZZ P, PR ) O ]

750w VLRI Ui Mz )
i 3/ 3 DIIZZZZZZZZZ Pl a7

ProVia®! S KE 7l
PRO 007 0010 177 mm ]
PRO 007 0030 177 mm B
PRO 0070280 171Tmm pzy
PRO 0070300 177 mm pEp )
PRO 007 036 0 176 mm o]

ElEAE
1EEFL
Bk @ 8 mm, 90° jiekk
K @14.8 mm
1EEFL

X @10 mm

* Average low specification alfernafive product

#0
Pushin fitting @ 6 mm

M10x1.0
Pushin fitting @ 6 mm
Pushin fitting @ 6 mm

Pushin fitting @ 6 mm

22

™

Provia



WG EE

PRO 007 0010
CNHTC WG1642440051/1
DF 5001090-C6100
DFLZ 5001090-C1100
FAW 5001320-Q824A
IVECO 41213 34

JAC 64006-Y4010XZ
SXQC 81.43610.6129

OE fmh% OE 45

PRO 007 0280
FOTON H4502A01056A0
PRO 007 030 0

Beiben 1288910046

CAMC 50H08-01060

CNHTC WG1642440051/1
FAW 5001075CA/01-C00/B

5001075CAO01/A

OE fah% OE 45

PRO 0070360

FOTON

1824950201013

™

Provia

23



IFESENEE (EEE)

Provia B S ERATFES I E5FEEZASHBM RN SEEE,
B BREERRAS: Premium FEATRRFD Value 35/ERR

Premium [EARAR (FF& 1SO #5E)

= HOZEMENERSE

= PA12 BIMNBEDREBIREMS ER YR

- IRk, 2AMA

= sRATEESI 10 bar

= USSR, BHLEBURLRE

= EHATEREIRIT, AEEE, FHLERSEIRR
= SBESEE: -40°CE+100°C, fiHEMELF

- EBRERE TEKE4K BE: 25K

Value tT/ERR (FF& CCAP i5ifE)
= R PA2 RATH A

= MR, REH=

= &M, RYBE, BEEFN

» IR ATI{EESI 10 bar

= SRESEE: -40°C E +100°C

- TRBERHSGIT, RIPEE, T
= WHEEARIAERE IR, AR, BALERCERIRIF
= BRESE: TEKE4XK, BE: 50K

% vf B %-

- I

% 53D

< I 7 —
wi g PPZZZZZZZZZZ PR ) iR )
waryn LI, 27777 —
% i o) LI P rizzzizzizid |
by IR 7]

Foy g DZZZZZZZIT il CrRd ]

24

Provia

* Average low specification alfernafive product

™



Premium FEATAR

PRO 7110620 RhESE 1SO '?507;’ 67;3 8& re 4m 12x1.5mm '\:}fgx)j 1551/ FAR:)
PRO7110630 | #BHESEISO "7’207;’67258& 2 4m 12x1.5mm '\:,:fgngg,/ e
PRO 251106 6 BE fiﬁﬁ) IS0 7628 26 25m 6x1mm - -
PRO 251108 6 =iz fiﬁﬁ) IS0 7628 R 25m 8xTmm - -
PRO 251110 6 EE fiﬁﬁ) ISO 7628 BE 25m 10xTmm - -
PRO 251112 6 ER foﬁké) IS0 7628 2a 25m 12x1.5mm - -
PRO 2511156 BE foﬁ%;) IS0 7628 A 25m 15x1.5mm - -

BELRSIFREYREE,

Value 15 4ERR
PRO 5210010 ] GB16897-201 4m 12x1.5mm "ﬂ%’j&/ &=
PRO 5210020 BieaE GB16897-2011 4m 12x1.5mm ":}fsx)jf’r)/ 41
PRO 521106 6 BE GB16897-20M 50m 6xTmm - -
PRO 521108 6 HE CCAP 50m 8xTmm - -
PRO 521110 6 BE CCAP 50m 10xTmm - -
PRO 5211126 BE CCAP 50m 12x1.5mm - -
PRO 5211156 BE CCAP 50m 15x1.5mm - -
PRO 521118 6 BHE CCAP 50m 18x2mm - -

™

Provia

25



EFiEk

EFEINFAREMFESHEZANSBER, TLUARHES
SBSEHSBEMIIBERIE, BLERERE.

737

= ProVia BFEAENEETHHRIGH. MHFAAIELE
= HEMEBEIR A 1501728

= BANEERILT, IREmERSESG

= RERHLE, BREHE

& HE

. B3 C ;3

= M16x15 = M16x15

= RS - IEHSE . RS EESE

s BB AR s EHEL AR
= T 1EEThEE

R
= TRERHHERKRIT. WEHMAE

Exdiey Be %-

R

Hordenig \VLLLLL L2, ORI R P, OO ]
777

P 8RB conpling /IR VP A

decoupling cycles)

and depressurizing)

o g v DLZZZZZIZ Oz P

PRI /A 77 7 7
5 ZZZZZZZIZ i Ml ]

8 +80 °C (ors 1 i) \LLULLIL LT O i i,

ProVia E4 S

PR0O 2002210 25|%F IS0 1728
PR0O 2002220 F5|F IS0 1728
PRO 200 0210 B IS0 1728
PR0O 200 0220 BE IS0 1728

AR
BE

M16
M16
M16

M16

1E[E]
LE[E]

26

Provia

* Average low specification alternative product

™



Ey=f Ukl

BERBNIIERESBARITING, AIAEREHERER
BEGRERN, THRW. FROESFEEF.

L

= ProVia BE 8RB NELHEA S BRERXHIENRER
= Provia BEREINEIRER R, KEMEFITIN, BAM

NV
= LEEAZHRR EFRHES

FEHH
= ERR, REREAIRE

= MRS, BIPERERL, EABREK

» RFREE. SREIE, ERXKEE
" PRRTEERSRIE, FHEK

= SAURIEREMLL, HIREEFE

s BEENEIEER, FaitE

i ey

Bt %- LRz

L

&

w0 s ) DL I
25w ) DI PP ) WPz ]
Bl i B +50 °C (er i) VLI P
5w PPZZZZZZZZZZI Ol

e 15 =0 °C ot i) LU

Or fnh%

PRO411009 0
DFLQ

TP401M3-1604610A

PRO4110100

Hongyan 1602-500520

PRO4110140
sQ DZ93189230080

W7 v R L

OE fih& OE 45

PRO4110120
sQ 1602300-E5H

PRO4110150

DFLQ Q102Y22-1604615K

PRO4110160

DFLQ Q102Y22-1604616K

* Average low specification alternative product

OE fah# OE 45

PRO4110170

Sanyi 60344882

PRO4110180

Foton H016200000008

PRO4110130

Hualing 1604A5DQ-010-A

™

Provia

27



WS E

PRO 0510040

King Long 216500010

ZF 501006570

PRO 051005 0

FAW 1602305A70A/B
PRO 051006 0

ANKAI W20803.02800.01W
Higer 16MC1-04010
King Long 216500050
SUNWIN SWB563050017
Yutong 1604-00213

PRO 051007 0

CNHTC WG9725230041/2
PRO 411000 0

DF 1608Z36-001

PRO411009 0

DFLQ TP401M3-1604610A

PRO4110100

Hongyan 1602-500520

PRO4110140

sQ DZ793189230080

28

OE fmh% OE 5

PRO 4110010

FAW 1602300-367

PRO 4110020

FAW 1602300A363

PRO 4110030

FAW 16080180030

PRO 4110040

DF 1608010-T1102

PRO 4110050

DF 1608010-T1103

SQ 1608010-T1103

PRO 4110200

SQ DZ9112230181

PRO 4110210

CNTHTC WG9725230041/1

PRO4110120

sQ 1602300-E5H

PRO4110150

DFLQ Q102Y22-1604615K

PRO4110160

DFLQ Q102Y22-1604616K

OE fah% OE 45

PRO 4110220

SQ DZ79112230166

PRO 4110230

FAW 1602305A70A

PRO 4110240

SQ DZ9112230178

PRO 4110250

CNTHTC WG9725230051

PRO 411026 0

FAW 9700514230

PRO 4110300

FAW 1602350-D849

PRO4110170

Sanyi 60344882

PRO4110180

Foton H016200000008

PRO4110130

Hualing 1604A5DQ-010-A

Provia

™



DY Zhifsd

EMSBH RGP REEMNE R NMTEFESD, KU
EWBTFRHE.

iR

®ig -40° # 80° BRI/

IR PRERFRPR A FIOIE, EREEE
BRERSE, REKBMAGIE, 48/\EL
I QCT 7FL, FemikE| 50 AR
ERNEFRENREERER, FRRERE
T{EE/110Bar

TERESERE -40°-80°

iediey Bt % B % E %l

5y QZZZZZZZZ27 Dl ) WP )

b nw i wn a) DRZZZZZZZZ Ui ) Mz ]
o % i w) DPZZZZZ 27 P, ) WP ]
A B -0 °C (ot i) LI T 0 O PP 222 )

B8 15 B 80 °C (oot i) \VPLLLLL T2, D
2 ve Przzzzzz7zz7zzz77 CPagpr iz 7z

ProViaZS##S OE fmh# OE E45 EORTERS
#HEO/B50: @15
ZERT: 61x61/4-M8

PRO 315 000 0 FAW 3514010-50A

HSO: ®15, M16X1.5
PRO 315 005 O CNHTC WG9719360005/6 HE0O: 15
LR 61x61/4-M8

HSO/HSO: M22X1.5

PRO 315004 0 CNHTC WG9000360520/2 .
LZERT: 61x61/4-M8
HSO/HSE: M22X15
PRO 315 006 0 Foton 1419335570001 .
ZERT: 61x61/4-M8
PRO 315 007 O SQ DZ9100360080 HAL/HR: M22X15
LIRS 70x70/2-M8
HSO/HSE :M16X1.5
PRO 315 009 0 DF 3514010-9002 .
ZERT:161x61/4*M8

* Average low specification alfernafive product

Provia






Provia



	ProVia 产品手册2021-08-24-01改
	ProVia 产品手册2021-08-23改
	ProVia 产品手册0518
	ProVia 产品手册0518-7

	ProVia_Product-Catalogue_en
	About ProVia
	Two line air brake system in trailers
	ProVia is the smart budget alternative

	Air Brake
	Brake Chamber
	Spring Brake Actuator
	Double Diaphragm Spring Brake Actuator
	Brake Pads

	Air Processing
	Air Dryer
	Air Processing Unit
	Heater
	Cartridge
	Multiple Circuit Protection Valve
	Quadruple Circuit Protection Valve
	Pressure Limiting Valve
	Compressor Cylinder Head

	Air Suspension
	Chassis Levelling Valve
	Cabin Levelling Valve
	Rotary Slide Valve

	Drive Control
	Clutch Servo
	Pneumatic Clutch Actuator
	Foot Brake Valve
	Hand Brake Valve
	Relay Valve
	Trailer Release Valve
	Relay Emergency Valve

	Electronic Brake Control
	Wheel Speed Sensor

	Electronically Controlled Air Suspension
	ECAS Solenoid Valve
	ECAS Distance Sensor

	Trailer Connection
	Coiled & Straight Tubes
	Coupling Head
	Electrical Accessories

	Index Lists, Cross Reference List
	Index by ProVia part name
	Index by ProVia number
	OE number Ü ProVia number
	Do you need more ProVia information?



	ProVia_Product-Catalogue_en
	About ProVia
	Two line air brake system in trailers
	ProVia is the smart budget alternative

	Air Brake
	Brake Chamber
	Spring Brake Actuator
	Double Diaphragm Spring Brake Actuator
	Brake Pads

	Air Processing
	Air Dryer
	Air Processing Unit
	Heater
	Cartridge
	Multiple Circuit Protection Valve
	Quadruple Circuit Protection Valve
	Pressure Limiting Valve
	Compressor Cylinder Head

	Air Suspension
	Chassis Levelling Valve
	Cabin Levelling Valve
	Rotary Slide Valve

	Drive Control
	Clutch Servo
	Pneumatic Clutch Actuator
	Foot Brake Valve
	Hand Brake Valve
	Relay Valve
	Trailer Release Valve
	Relay Emergency Valve

	Electronic Brake Control
	Wheel Speed Sensor

	Electronically Controlled Air Suspension
	ECAS Solenoid Valve
	ECAS Distance Sensor

	Trailer Connection
	Coiled & Straight Tubes
	Coupling Head
	Electrical Accessories

	Index Lists, Cross Reference List
	Index by ProVia part name
	Index by ProVia number
	OE number Ü ProVia number
	Do you need more ProVia information?





